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THE YEAR AND ITS PARTS

The year comprises twelve
- months, or fifty-two

| not only restored the vernal
equinox to its proper place,

weeks and one day; more | but arranged that in future
precisely, 365 days and almost | no similar error would occur
six hours: this being the time | and that neither the vernal
taken for the sun completely | equinox nor the 14th day of
to traverse Zodiac. Every four | the paschal moon would ever
years those extra six hours|again be moved from their
add up to one full day, and | proper place.

thus the fourth year to which| To restore the vernal equi-
this extra day is added is/nox to March 21, Pope
called bissextile, or a leap| Gregory decreed that in the

year. ‘ month of October of the year
| 1582 the above-mentioned

Rectification of the vear ; its | ten extra days should be taken
necessity: the Gregorian | from the calendar. Thus after

Calendar
he statement above that

the year contains 365

days and six hours was not
meant to convey that those
six hours are exact or com-
plete. In fact, the time falls
some minutes short of six
hours. At an earlier period in |
history the calendar was|
computed on the assumption
that the year comprised 365
days and six hours exactly,
thus erroneously giving those |
extra minutes to every year.
In the course of time those
extra minutes added up to ten |
days so that the vernal|
equinox had lost its proper|
place in the calendar.

The Council of Nice deter-
mined March 21 for the equi- |
nox and also restored the|
14th day of the paschal moon |
1o 1ts proper place. But in the |
Interval between the Council
an]d the reformation of the
fgnendiar In 1582, an error of

¥s had crept into the
reckoning, o dv thi
Situation. p remedy this
on, Pope Gregory XIII

the 4th of October, the feast
of St. Francis, the following
day was not the 5th but the
15th. In this way, the error
which had crept in and
steadily increased over so
many years, was finally cor-
rected.

To avoid the future possi-
bility of March 21 not corres-
ponding to the vernal equinox,
Pope Gregory decreed that
the custom of having a leap
year every fourth year should
continue, except in centenary
years. With the exception of
the year 1600, the next cen-
tenary to follow the reforma-
tion of the calendar, all future
centenary years would be
arranged as follows. In every
four hundred years the first
three centenaries would not
be leap years, whereas the
fourth centenary would be.
Thus, the years 1700, 1800
and 1900 would not be leap
years but in the year 2000 the
customary  bissextile day
would be inserted so that the

| month of February would
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have 29 days. This same pro- |
cedure is to obtain in every |
subsequent four hundred‘

years. ‘

Ember days

Ember days (quarter tense)

are the Wednesday and
Friday of the weeks following
the third Sunday of Advent,
the first Sunday of Lent,
Pentecost Sunday and the
third Sunday of September.

The celebration of
Matrimony

M' atrimony may be con- |
tracted at any time
during the year. 2. It is |
forbidden, however, to impart '
the solemn nuptial blessing |
from the first Sunday in
Advent to the feast of the
Nativity, inclusive, and from
Ash Wednesday to Easter
Sunday, inclusive. 3. Local |
ordinaries, taking into ac- |
count the liturgical laws, |
may permit the solemn bless-
ing even in those closed times
if there should be a reasonable
cause. In these circumstances
the spouses are to be advised
to abstain from excessive |
external pomp. ‘

The nineteen year cycle of |
the golden number

his is the constant cycle

of a nineteen year period

and within it the golden |

number varies from 1 to 19.

When the cycle of 19 years is

completed, the golden num-
ber again reverts to 1.

For example: in the year

1577 the golden number of
this cycle is 1 ; the following
year, 1578, it is 2. In each
succeeding year the golden
number increases by one until
| eventually the golden number
| of 19 is reached in 1595. After
| this the cycle begins again so
| that in 1596 the golden num-
| ber is once again 1 and the
following year, 1597, it is
etc.

l\ To find out the golden
number for any particular
| year, the following table must
| be kept in mind. This table
begins with the year 1582
|when the calendar was re-
| formed, and is valid for all
future time. Thus the golden
number for any year after
1582 may be worked out in
accordance with this table.

6 7 8 9 10 11 12 13 14
15 16 17 18 19 1 2 3 4 5

The first number in this
table is 6, which is the golden
number corresponding to the
year 1582. The second
number, 7, is the golden
number of the following year
1583, and so on. To find the
golden number for any subse-
quent year (i.e. after 1882) the
counting must be done within
the framework of this table
until the year in question is
reached.

A short method of finding
the golden number for
any year

'Take the number of the
particular year and add 1.
Then divide the sum by 19.
What is left over as a result
of this division will be the
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golden number for that par-, one will be 29, which corres-
ticular year. If nothing is left| ponds to the golden number
over, then the golden number| 19. When this epact is
is 19, | reached, 12 days are to be
| added instead of the normal
Epacts and new moons | 11. When 12 is added to 29
he epact is the number of | we have the total of 41 and
days by which the com- when 30 are rejected this
mon solar year, consisting of | leaves us once again with 11
365 days, exceeds the com-|to begin the series. The
mon lunar year which has| reason for this is to ensure
only 354 days. In any given | that the last intercalary moon
first year the epact is 11 ‘ period, during the current
which is the number of days| golden number of 19, should
which the common solar year | have only 29 days. If this
has in excess of the common | month were to contain 30
lunar year. In the second| days such as the other six
year the new moons will occur | intercalary moon periods,
11 days earlier than in the| then after a period of 19
first. Thus the epact of the\ solar years the new moons
second year is 22, since the would cease to recur on the
solar year will again exceed | same days, but would gradu-
the lunar year by 11 days, and | ally move towards the ends
when these are added to the| of the months. In fact, after
epact of the first year we have | a period of 19 years the new
the total of 22. Now in the moon would recur one day
third year the new moons will | late.  This whole problem
occur 22 days earlier than the | has been explained in the
first year. However, the| book on the reformation of
epact of this third year is 3| the Roman calendar.
and not 33. The reason for| There are 19 epacts corres-
this is as follows. Another| ponding to the 19 golden
addition of 11 to 22 gives 33 | numbers. The following
for the epact of the year ; but | table shows the relation be-
in consequence of the inser- tween the two before the
tion of the intercalary month | reformation of the calendar.
this epact is reduced to 3. In| Table of epacts and corres-
like manner the epacts of all | ponding golden numbers
the‘ following years of the| such asthey were before the
cycle are qbtzuned by succes- correction of the calendar.
sively adding 11 to the epact| —
of the former year, and re- Gold.num, 1 2 3 4 5
jecting 30 as often as the sum | Zpacts. i xxii fif
exceeds that number. 6 7 g 9 10 11 12
Now, however, some | vi xvii xxviii ix xx i  xii
furthgr corrections must be |13 14 15 16 17 18 19
explained. As already seen, | xxiii iv xv xxvi vii xviii xxix
each year mnot only has its |
own peculiar epact but its| Seeing that the nineteen
golden number as well. In year cycle of the golden
the series of epacts the last 'number is imperfect (since,
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as already explained, the new | number. In place of the old
moons after a period of 19 epacts, these new ones are

solar years do not return to
the same places), likewise the
cycle of 19 epacts is imper-
fect. Consequently, the cycle
has been rectified so that in
future in place of the golden
number and the above men-
tioned 19 epacts, we may use
30 epact numbers instead,
beginning with 1 and pro-
gressively increasing to 30.
In this series, however, the
last epact which in the order
of things should be 30, will
not be signified by any num-
ber but simply by the sign*.
The reason for this is that no
epact could possibly be 30.

At different timesadifferent
set of 19 epacts, of the 30
mentioned above, will corres-
pond to the 19 golden num-
bers. This variation is
demanded by the co-relation
of the solar and lunar years.
The 19 epacts are to proceed
as formerly by adding the
same number 11, with the
exception of the epact which
corresponds to the golden
number 19. In this particular
case 12 is to be added instead
of 11, and the reason for this
exception is to ensure that the
following epact will corres-
pond to the golden number 1,
as already explained.

The following table will
exemplify this. It contains
the golden numbers and the
corresponding epacts from
the year 1582 (when the
calendar was reformed and 10
days removed) to the year
1700 exclusive. Whereas the
common epacts should change
in March, here they change at
the beginning of the year,
together with the golden

now put forward.

Table of epacts and corres-
ponding golden numbers
from Oct. 15, 1582, in-
clusive, to the year 1700,
exclusive.

Gold. num. 6 T 8 9 10
Epacts xxvivii xviii xxix x
11 12 13 14 15 16 i §
xxi i1 xiii xxiv v xvi xxvii
18 19 1 2 3 4 b
viii xix i xii xiii iv  xv

If the epact for any par-
ticular year is sought, first of
all find its golden number in
the higher line of the table
which covers the period.

Immediately below the golden
'number the corresponding
|epact will be found, or at
|least the sign*. When this
'epact (or the sign*) is found
in the calendar, this signifies
’that the new moon occurs on
that particular day.

The golden number for any
year will be found either by
using the rule mentioned pre-
viously, or from any table of
epacts which covers the period
in question — a table which
gives the first golden number
to the first year of the period,
and the second golden num-
ber to the following year, etc.
In the same way the epact,
without the golden number,
may be found if there is a
current valid table which
gives the first epact to the
first year of the period to be
covered, and the second epact
to the second_year, etc.
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Example: The first table| To wunderstand how this
begins with the year 1582. table of epacts is to be
This was the year in which the | used, consider the following
calendar was corrected and ‘ examples. The year 1901
the ten days removed, so that | has epact x placed under the
from Oct. 15 in that year the | golden number 2. In that
table is valid. The first golden | year the new moons occur
number in this table is 6 and | on Jan. 21, Feb. 19, March 21,
immediately below and cor- | etc. Likewise, the year 1902
responding to this is the epact | has epact xxi under the golden
xxvi. Thus in this particular | number 3 and this enables us
year the new moons occur on |to discover in the calendar

. Oct. 27, Nov. 26 and Dec. 25. | the new moons for the entire

Similarly in the year 1583 | year: for instance, Jan. 10,
(always presupposing the cor- | Feb. 8 and March 10. The
rection of the calendar) the | same information for any sub-
golden number is 7 and we see | sequent year may be got by
in the same table that the |using this table, going from
epact is vii. This epact in- |left to right until the year in
dicates the new moons for the | question is reached.

entire calendar year. They| It will be noticed that the

occur on Jan. 24, Feb. 22 and

March 24, etc.

Another table of epacts and
corresponding golden num-

epact given for the year 1911
1is not designated by any
| number but rather by the
1 sign*, which is found under
| the golden number 12. In the

bers from the year 1700
inclusive to the year 1900
exclusive.

| calendar this sign will indicate
| the new moons for the entire
| year, i.e. on Jan. 1 and 31, on
March 1 and 31 (the absence
Gol.num. 10 11 12 13 14 15|of the sign* in the calendar
Epacts.  ix xx i xii xxiii iv|for the month of February
f6 17 18 19 1 2 3 | indicates that when this epact
xv xxvi vil xviii *  xi xxii ‘IS Curr?nt there is no new
R e —— |moon in that month), on
; ] i .| April 29, etc.
W xv =y v A RV Finally, let us consider the
, . | year 1916 which in the last
ier table ol epacts and | taple given above has the
rresponding golden num- | golden number 17 and imme-
om the year 1900, | diately under neath has epact
to the year 2200, | 25 expressed in Arabic num-
|erals, unlike the others.
| Wherever we find epact 25
SO T3 4 5 | (Arabic numerals) in  the
xxix x xxi i xii| calendar of 1916, on that day
8 7 8 9 15 11 1z the new moon will occur, as
XXV v xvi xxvii vijj . |On Ian. 6, Feb. 4, March 6,
18014 15 1s = | April 4, etc. As often as epact
| S, 9125 corresponds to golden

———— 7 % Vi xvil pymbers which are greater
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than 11, i.e. from 12 to 19, beginning again when neces-
then it is to be written on the | sary, until the year in question
calendar in Arabic numerals. | is reached.
When, however, the same| If a particular year should
epact corresponds to golden | have but one dominical letter,
numbers which are less than | this signifies that it is a
12, i.e. from 1 to 11 inclusive, | common year. If, however, it
then it is to be written on the | should have two dominical
calendar in Roman numerals. | letters, then it is a leap year
This procedure is observed |and the higher of the two
for epact 25 alone and never | letters refers to the dates of
for any of the others, and the | the Sundays from the begin-
reason for this is to ensure | ning of the year to the feast of
that the lunar years are more | St. Matthias, Apostle (Feb.
perfectly co-ordinated with | 24), whereas the lower letter
the solar years. For the same | will give the same information
reason in six places of the | for the remainder of the year.
calendar the two epacts xxv| Example: Suppose that
and xxiv are inserted. | the dominical letter for the
year 1587 is being sought. We
| know that the first cell of the
Table of dominical letters table which contains the letter
from Oct. 15 1582 (after | ¢ refers to the year 1582. By
correction of the calendar) | simply counting the cells (and
year 1700, inclusive. | the years.) along t.he same table
' 2 | we find in the sixth place the
| letter d which is the dominical

d

cib|alfleld]ec Aiglf e|c|bfa | letter of the year 1587. (Note,

gl | b d l | however, that even though a
glejd|c|b [g|f|e|d|bjagf|a Particular cell of the table
£ ‘ I ‘ & ¢| | contains two letters, it is still

counted as one year.) Since
the dominical letter of the
. ) ) | year 1587 is simple and not
This table begins with the | compound, this means that
dominical letter c¢ which | it is not a leap year and con-
corresponds to the year 1582 | sequently the same letter is
(when the calendar was cor- | valid all the year through.
rected on Oct. 15). In the| Now suppose that the
second cell of the table we | dominical letter for the year
have the letter b which| 1616 is being sought. First,
corresponds to 1583, and in| we must go through the table
the third cell the letters A g| again and again until we
which pertain to the year|reach the cell corresponding
1584 etc. The dominical | to 1616. Eventually we arrive
letter for any subsequent  at the seventh cell of the table
year until 1700, exclusive,| which contains two letters,
may be worked out within|c b. This indicates that it is
the framework of this table,| a leap year and the higher
going from left to right | letter, c, will give the dates
through the entire table and ' for the Sundays from the
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beginning of the year to the
feast of St. Matthias, while
the lower letter, b, is valid r:[‘he cycle of indiction is
for the remainder of the year. the constant rotation of a
15 year period so that the
| numbers of the years within
Another table of dominical |the cycle constantly vary
letters from the year 1901, | between 1 and 15. As used in
inclusive, to the year 2100, Papal Bulls, January is con-
exclusive. sidered the beginning of each
year.
The cycle of indiction is
| often referred to in official and
(public documents. The fol-
a | lowing table will give us the
| number of any year within

Cycle of Indiction

e

o
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follows the 14th day of the count on the 14 days to find
moon of the first month. | the 14th day of the moon. In
(According to the Hebrew |this year it happens to be
calculation the first month |April 3, but we notice
is that in which the 14th day opposite this date in the
of the moon falls on the day  calendar the dominical letter
of the vernal equinox, March | b, which indicates that in the
21, or which immediately |year 1605 it is Sunday. Lest
follows it.) IEaster should coincide with

The date of Easter may be | the Jewish Passover which is
calculated if we know the | celebrated on this very day,
epact for any particular year. | the 14th day of the moon, we
First, observe the calendar |continue down the calendar
between March 8 and April | until we find the next re-
5 (both days inclusive).| currence of the dominical
Notice on the same calendarf letter b, i.e. the next Sunday,

c blg’f e|d b‘;\‘glf dlec
A [ e

b‘!\
g

This table begins with the
dominical letter f which cor-
responds to the year 1901.
In the second cell of the table
we have the letter e which
refers to the year 1902, etc.
The dominical letter for any
subsequent year will be got

by counting along the cells of ‘

the table (going from left to
right through the entire table
and beginning again when

the cycle. While the table is

\valid for all future time, it
| begins with the year 1582,
| when the calendar was cor-
| rected.

\ Table of indiction from the
year 1582

10 11 12 13 14 15
2 3 4 5 6 7 8 9

| In this table the first
number, 10, corresponds to
' the year 1582 and the second

'number 11 to the following
' year 1583 etc. The indiction

necessary) until the year in | of any subsequent year may

question is reached. Then, as
already explained, if we find
that the year has but one |
dominical letter, this signifies |
that it is a common year. If, |
however, it should have two
dominical letters, then it is a
leap year and the higher of |
the two letters will give the‘
date for Sunday in the
calendar from the beginning
of the Yyear to the feast of St.
Matthias, Apostle, whereas
the lower letter will give the

same information for the
remainder of the year,

be got from the same table by
counting along the numbers
of indiction (going from left
to right through the entire
table and beginning again
when necessary) until the year

in question is reached.
Movable feasts

e Council of Nice de-
creed that Easter on
| which the dates of all the
| other movable feasts depend
|it is to be celebrated on the
'Sunday which immediately

run concurrently with the
days of the month. Now,
between March 8 and April 5 |
(both days inclusive) find the |
epact of the year in question, |
and note the day which cor- |
responds to it on the calendar. |
(The 14th day of the moon |
will be either the vernal
equinox or some day subse-
quent to it, irrespective of the
epact.) Having found the
above-mentioned day some-
where between March 8 and |
April 5, then from this day
(inclusive) count on 14 days
in the calendar, and the Sun-
day which immediately fol-
lows this 14th day is Easter.
(Note that it is the Sunday
which follows the 14th day
of the moon, to avoid Easter
falling on the same day as the
Jewish feast, and this would |
happen if the 14th day of the
moon should be a Sunday.)
Example: For the year 1605
the epact is x and the|
dominical letter is b. Wheni

the series of epacts which‘

which in that year falls on
April 10. In 1605, therefore,
Easter is celebrated on April
10.

Next let us consider the
case of 1604. Its epact is
xxix and since it is a leap year,
it has a double dominical
letter, d c. Consulting the
calendar between March 8
and April 5, inclusive, we
find epact xxix opposite April
1. Then we count the 14 days
to find the 14th day of the
moon, and this happens to be
April 14. At this particular
time of the year (after the
feast of St. Matthias) it is the
second dominical letter which
is current, i.e. c. Therefore,
we continue down the
calendar from April 14 (which
represents the 14th day of
the moon) until we arrive at
the dominical letter c. We
find it opposite April 18, and
thus in the year 1604 Easter
Sunday is celebrated on April
18.

Two distinct tables, one old

we consult the calendar be-| and the other new, are given
tween March 8 and April 5, further on for the purpose of
inclusive, we find epact x| calculating all the movable
listed opposite March 21.| feasts of any year. The old
From March 21, inclusive, we ' table is to be used in the
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following manner. On the, to find b when it next occurs.
left hand side of the table, | Opposite this dominical letter
find the current epact andl b we find that in 1605 Sep-
then in the next column find | tuagesima falls on Feb. 6,

The Year and its Parts LXIII

Septuagesima and Ash Wed=- we see in the table that Sep-
nesday are in January or |tuagesima falls on Feb. 11
February, one day is to be and Ash Wednesday on Feb.
added to these by way of }28. When one day is added,

the current dominical letter
which is the next below the
current epact. If it should
happen that the current
dominical letter is directly
opposite the current epact,
this is not to be taken, but the
same letter when it occurs
again immediately below.
When the dominical letter is
found in this way, the dates
of all the movable feasts of the
year are given directly
opposite.

The following is an example
of how this (older) table is to

be used. The epact for the |

year 1606 is xxi and the
dominical letter is A. Using

the table we find epact xxi

and then the dominical letter
A which is immediately below
it in the next column. Op-
posite dominical letter 4 we
find all the necessary infor-
mation regarding the dates of
the movable feasts of the year:
Septuagesima falls on Jan. 22,
Ash Wednesday on Feb. 8,
Easter on March 26, Ascen-
sion on May 4, Pentecost on
May 14. Likewise, we are
told that in this particular
year there are 28 Sundays
between Pentecost and Ad-
vent, and that Advent begins
on Dec. 3,

The year 1605 will serve as
another example. The epact
IS X and the dominical letter
Is b. In this case when the
table is consulted it will be

fggg;i btl_xat the dominical
el Is_directly opposite

onsequently it is
nelcessary to g(;q dow}l’l the
column of dominjca] letters

Ash Wednesday on Feb. 23,
Easter on April 10, etc.

When there is question of
'a leap year, the same pro-
| cedure must be observed as
| in the common year. When
one or other of the two
current dominical letters is
found directly opposite the
current epact, it will be
necessary to read down the
'column and find similar
| letters when they next occur.
| This will give the requisite
information for the movable
feasts of the year.

Now let us consider the
second (new) table and its
'use for finding the dates of
the movable feasts. In the
| compartment or cell contain-
ling the current dominical
letter, find the current epact.
|Directly across from this
‘epact will be found the dates
for all the movable feasts of
'the year.

Example: The year 1609
(has d as dominical letter and
|lepact xxiv. Having found
|epact xxiv in the cell adjoining
|the letter d in the table, the
|line corresponding to this
|epact in the same table gives
the requisite information, i.e.
Septuagesima falls on Feb.
15, Ash Wednesday on March
4, Easter on April 19, etc.

Whether the old or the new
table is being used, when
there is question of a leap
year, it is more convenient to
consider only the second
dominical letter, i.e. that
‘which is valid after the feast
|of St. Matthias. Then if we
find that the dates given for

correction. As already ex-
plained, the first (higher)
dominical letter given for a
leap year is valid until the
feast of St. Matthias. After
this feast, which occurs in
February, the second (lower)
dominical letter is current,
and the intercalary day has

been inserted. Thus, Feb. 24 |

becomes Feb. 25, and Feb. 25
becomes Feb. 26, etc.

If during a leap year Ash
Wednesday should fall in

|the date for Septuagesima
lbecomes Feb. 12, which in
fact is a Sunday, and the date
of Ash Wednesday becomes
Feb. 29, which in fact is a
| Wednesday. The dates for
| Easter and the other movable
feasts do not have to be
changed but are exactly as
stated in the table.

Example 2: The leap year
4088 has epact xxiv and the
| dominical letters d c. If we
|use the second dominical

March, then there is no need | letter, ¢, to investigate the
to add an extra day (i.e. to | movable feasts, we find in
that given in the table) since } the table that Septuagesima
the second dominical letter |falls on Feb. 21: adding one
(which is being used) is|day, this becomes Feb. 22,
current and the intercalary | which in fact is a Sunday.
day has already been inserted | Likewise, the table tells us

in February. Consequently,
the days of the month are now
corresponding to their appro-
priate numbers.

The rule of using only the |

jthat Ash Wednesday falls on
| March 10. Coming so late,
'the date of Ash Wednesday
| does not need to be changed.
Example 3: The leap year

second dominical letter when | 3784 has epact xxv and the
investigating the movable | dominical letters d c. If, once
feasts of leap year is not again, we use the second
merely a matter of con- | letter, c, we find in the table
venience. If the leap year | that Septuagesima is due on
should have the current epact | February 21, and the usual
of xxiv or xxv and the addition of one day will
dominical letters d ¢, then  change this to Feb. 22.
the second dominical letter| Example 4: In the case of
must be used as otherwise the  the years 4088 and 3784, if
date of Septuagesima cannot | we should wuse the first
be correctly calculated from | dominical letter, d, to find the
the table. This will be illus- | date of Septuagesima, our
trated by the third and fourth | information would be false.
examples given below, i.e.| According to the table, the
for the years 4088 and 3784.| dominical letter d, when
Example 1: The leap year current with epact xxiv or
2096 has epact v and the| xxv, gives the date Feb. 15
dominical letters A g. When | for Septuagesima. This is
we take the second letter, g,| false. By using the second
to find the movable feasts,! dominical letter, ¢, we find

»
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that in the same year Easter

we look for the letter d which

Former Easter Table Revised

occurs on April 25 and Sep- | occurs immediately below it. la] ©
tuagesima on Feb. 22. (Cf.| The table informs us that in - g 9
example 3.) This may be|the year 1450, Septuagesima B B o 3 2 |~ T
verified by counting back|was celebrated on Feb. 1, 8 - . |2 8 a3 " |8 &
from the date of Easter to| Ash Wednesday on Feb. 18, ' E 13‘3:},“ = 5 g 5 O & ¢
Septuagesima. Easter on April 5, etc. al Y€€ 5| oo 0 o C a |5 &
In the first of the two| Adventis always celebrated & 8 2 = 13 2 3 3 8 B
tables given below the golden | on the Sunday which is near- o & < Z 9 G g § &
numbers are to be found to|est the feast of St. Andrew, @) A «n < 53 < Ay 0 & =
the left of the column of| Apostle (Nov. 30), so that it 1 e o ——— sy ==
epacts. The golden numbers | will always occur between 16 xxiii Jan.  Feb. Mar. Apr. ay May
are arranged in this table in | Nov. 27 and Dec. 3, both days 5 xxii d| 18 - 22 30 10 21 2829 Nov.
the same order which they had | inclusive. To find the exact xxi e 19 23 1May 11 22 2830
before the calendar was cor- | date of Advent in any particu- 13 xx | 20 24 2 12 23 128 1Dec.
rected. The reason for this is | lar year, consult the calendar 2 xix g 21 25 3 13 24 ESJ 2
to enable us to find the dates | between Nov. 27 and Dec. 3. = - P R e . — - =
for Easter and the other | The day corresponding to the xviii A| 22 8 26 4 14 25 28 3
movable feasts in the period | current dominical letter will 10 xvii b 23 9 27 5 15 26 2727 Nov.
between the Council of Nice | be the Sunday of Advent. For xvi |c| 24 10 28 6 16 27 127128
and the year 1582, when the | example, if the current dom- 18 xv |(d| 25 11 29 7 17 28 12729
calendar was reformed. To | inical letter should be g, then 7 xiv. e 26 12 30 8 18 29 2730
find the dates of the movable | the Sunday of Advent falls T T v i ' T T = =
‘ feasts in any year during this | on Dec. 2, since it is this date s f 27 13 31 9 19 30 27 1Dec.
‘; period, use the golden num- |which corresponds to the 15 xii |g| 28 14 1Apr. 10 20 31 27| 2
1 ber instead of the epact, letter g in the calendar. 4 xi Al 29 15 2 11 21 1]June 27 3
, employing the same method | After the old and the new X b 30 16 3 12 22 2 2627 Nov.
| = when the epact is used. Faschal tables whiclh ar% t? be 12 jix |e 31 | 17 4 | 13 | 23 3 2628
|| or instance, suppose that found immediately below, = e |G| T 1 1 —
:; we wish to know the dates of | there is given a table in which 1 Vil d 1Feb. 18 5 14 24 4 2629
| the movable feasts in the year | the movable feasts have been 9 vk | e 2 19 6 15 25 5 12630
‘ 1450, and that we already |calculated for a number of ¥ fl 3 20 7 16 26 6 26 1 Dec.
| know that the golden number | determined years. All this 17 v g 4| 21 8 17 27 7 26 2
‘ for that year was 7 and the |information has been ac- v A 5 22 9 18 28 8 26 3
‘ dominical letter d. Having ‘ quired from the first two R T T T e P v
found the golden number 7 in | paschal tables which are valid 6 iii b| 6 23 10 19 29 9 2527 Nov.
the extreme left hand column, | for all time. 14 4 3 ’87 %g % é g(l) g(l) i(l) %g %g
3 * e 9 26 13 22 1June 12 2530
xxix [f| 10 | 27 @ 14 | 23 2 | 13 25 1Dec.
1 11 xxviil| g| 11 28 15 24 3 14 25 2
xxvii A 12 |1 Mar. 16 25 | 4 15 25 3
1925 | xxvi b| 13 2 17 16 5 16 2427 Nov.
8xxv| xxiv (¢| 14 3 18 27 6 17 2428
d 15 4 19 28 74 18 2429
e 16 5 20 29 8 19 2430
£f| 17 6 21 30 9 20 24 1Dec.
g 18 7 22 31 10 21 24 2
Al 19 8 23 1June 11 22 24 3
b 20 9 24 2 12 23 2327 Nov.
c 21 10 25 3 13 24 2328
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) New Easter Table Revised
i Dominical Septua- Ash i ' Sunday | 1 Sunday
otte Inact cvele Py il s hitiss Easter Ascen- | Pente- | Corpus | after of
' letter Epact cycle gesima [Wednesday s onst Christi | Pent. Advent
i 23 18 Jan. 4 Feb. 22 Mar. | 30 Apr. | 10 May| 21 May 28 29 Nov.
! 22 21 20 19 18 17 16 25 Jan. 11 Feb. 29 Mar. 7 May | 17 May | 28 May 27 29 Nov.
| D 51131211100 1 Feb. | 18 Feb. 5 Apr. | 14 May| 24 May| 4June| 26 | 29 Nov.
) 8765432 8 Feb. | 25 Feb. 12 Apr. | 21 May| 31 May| 11 June 25 29 Nov.
';‘ 1*29282726 xxv2524| 15 Feb. 4 March 19 Apr. | 28 May| 7 June| 18 June 24 29 Nov.
L 23 22 19 Jan. 5 Feb. 23 Mar. 1 May| 11 May | 22 May 28 30 Nov.
I 21 20 19 18 17 16 15 26 Jan. 12 Feb. 30 Mar. 8 May | 18 May | 29 May 27 30 Nov.
E 1413 12 11 10 9 8 2 Feb. | 19 Feb. 6 Apr. | 15 May| 25 May| 5June| 26 | 30 Nov.
! | 1654321 9 Feb. | 26 Feb. 13 Apr. | 22 May| 1 June| 12 June 25 30 Nov.
i{ * 29 28 27 26 xxv25 24 16 Feb. 5 March 20 Apr. | 29 May| 8 June| 19 June 24 30 Nov.
| 23 22 21 20 Jan. 6 Feb. 24 Mar. 2 May| 12 May | 23 May 28 1 Dec.
20 19 18 17 16 15 14 27 Jan. 13 Feb. 31 Mar. 9 May | 19 May | 30 May 27 1 Dec.
F 13 12 11 109 8 7 3 Feb. | 20 Feb. 7 Apr. | 16 May| 26 May| 6 June 26 1 Dec.
6543211 * 10 Feb. | 27 Feb. 14 Apr. | 23 May| 2June| 13 June 25 1 Dec.
| 29 28 27 26 xxv 25 24 17 Feb. 6 March 21 Apr. | 30 May| 9 June| 20 June 24 1 Dec.
| 23 22 21 20 21 Jan. 7 Feb. 25 Mar. 3 May| 13 May | 24 May 28 2 Dec.
! 19 18 17 16 15 14 13 28 Jan. 14 Feb. 1 Apr. | 10 May| 20 May | 31 May 27 2 Dec.
G 1211 10987 6 4 Feb. | 21 Feb. 8 Apr. | 17 May| 27 May| 7 June 26 2 Dec.
54321 *29 11 Feb. | 28 Feb. 15 Apr. | 24 May| 3 June| 14 June 25 2 Dec.
28 27 26 xxv 25 24 18 Feb. 7 March 22 Apr. | 31 May| 10 June| 21 June 24 2 Dec.
23 22 21 20 19 22 Jan. 8 Feb. 26 Mar. | 4 May| 14 May | 25 May| 28 3 Dec.
18 17 16 15 14 13 12 29 Jan. | 15 Feb. 2 Apr. | 11 May| 21 May| 1 June 27 3 Dec.
A (111098765 5 Feb. | 22 Feb. 9 Apr. | 18 May| 28 May| 8June| 26 | 3 Dec.
$ 321 *29 28 12 Feb. 1 March 16 Apr. | 25 May| 4 June| 15 June 25 3 Dec.
27 26 xxv 25 24 19 Feb. 8 March 23 Apr. 1 June| 11 June| 22 June 24 3 Dec.
23 22 21 20 19 18 23 Jan. | 9 Feb. ' 27 Mar. | 5 May| 15 May| 26 May| 27 | 27 Nov.
B 17 16 15 14 13 12 11 | 30 Jan. | 16 Feb. ' 3 Apr. | 12 May| 22 May| 2June| 26 | 27 Nov.
10987654 6 Feb. | 23 Feb. 10 Apr. | 19 May| 29 May| 9 June 25 27 Nov.
3 2 1 * 29 28 27 13 Feb. 2 March 17 Apr. | 26 May| 5 June| 16 June 24 27 Nov.
26 xxv 25 24 20 Feb. 9 March 24 Apr. 2 June| 12 June | 23 June 23 27 Nov.
22 21 20 19 18 17 24 Jan. 10 Feb. 28 Mar. 6 May| 16 May | 27 May 27 28 Nov.
C 16 15 14 13 12 11 10 31 Jan, 17 Feb. 4 Apr. | 13 May| 23 May| 3 June 26 28 Nov.
TOT6549%2 7 Feb. | 24 Feb. 11 Apr. | 20 May| 30 May | 10 June 25 28 Nov.
1 * 29 28 27 26 xxv25 14 Feb. 3 March 18 Apr. | 27 May| 6 June| 17 June 24 28 Nov.
24 21 Feb. | 10 March 25 Apr. 3 June| 13 June ! 24 June 23 28 Nov.




